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1. Given the network in Fig. 1, find the power dissipated in the 3-Q resistor and the energy stored in the
capacitor 2F. (15 points)

2. Find the input/output relationship (i.e. iin/io) in term of Rg, Ry, R for the current amplifier shown in
Fig. 2. (15 points)

3. Use the differential equation approach to find Vo(t} for t > 0 in the network in Fig. 3. (15 points)

4. Find the equivalent impedance Zeq for the circuit in Fig. 4. (15 points)

5. Find ic(t) and i(t) in the network in Fig. 5. (20 points)

6. Given the network in Fig. Fig. 6, find the average power supplied and the average power absorbed by
each element. (20 points)
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Fig. 1. To find the power dissipated in the 3-Q resistor and the energy stored in the capacitor.
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Fig. 2. Find the input/output relationship (iin/io) for the current amplifier.
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Fig. 3. Use the differential equation approach or Laplace transform to find Vo(t) for t > 0 in the network.
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Fig. 4. Find the equivalent impedance Zeq. Fig. 5. Find ic(t) and i(t) in the network.
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Fig. 6. To find the average power supplied and the average power absorbed by each element.




